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@UE - ‘37’ /SECTION - ‘A’

Tl 3@ 9E 3§ 15 AeIaiE -0 § | 5s W I Afuswan 15 4 20 TR A @0 R | At v e | W
994 03 (i) 3l 1 2 | 15%3=45
Que.:1. This question contains 15 very short answer type sub-questions. Answer each question in maximum 15 to
20 words. All questions are compulsory. Each question carries 03 (three) marks.
T (1) U a5 F1 eI 20 R R | geeft v smen s feaan @ 2 L/M=03
The mass of an object is 20 kg. What will be its weight on Earth ?
3L T
./M=0
Y : (1.2) U g 1 oRfy 338§ | SEeRT @emet T T | e
The circumference of a circle is 33 cm. Find its area.
1 L TTHTS
T (1.3) 59 25% J2 A I @ A 79 g ¥ v St @l 3N T 200 w00 | FE A TR wex v [ RO
=7 91 ?
Rahul bought a sweater and saved ¥ 200, when a discount of 25% was given. What :
was the price of the sweater before the discount ? BILIE
Il
) 9./M=03
T : (1.4) WRATE A o d@Lfl. wa % sifacht § gEeeyul JemeeE w0 E 2
What is the significant contribution of Indian scientist, Sir C.V. Raman in Physics ?
I : ST
9./M=03
T : (1.5) Y-ATHE Hall TR ?
What is geothermal energy ?
Il SR
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@Ug- ‘37 /SECTION - ‘A’
Uil W 9E A 15 AfGegenia 399w § | I9% 9E 1 I Afuwan 15 F 20 vl # 2 R | weft v arfamd ¥ ) v
¥ 03 () il # R | 15x3=45
Que.:1. This question contains 15 very short answer type sub-questions. Answer each question in maximum 15 to
20 words. All questions are compulsory. Each question carries 03 (three) marks.
9 : (1.6) 390 YEUF ¥ 31T T GHIA 8 ? q./M=03
What do you mean by E-waste management ?

I T

q./M=03

UM : (1.7) FHai 3cured 7q g3 4 HA-dt ifae wfsen g gt @ 2 38 aftnfya Hifvm

Which physical process takes place in the Sun for energy production ? Define it.

Il ; '
9./M=03
T : (1.8) TESIRGH F1 R ?
What is plagiarism ?
I :
9./M=03
T 1 (1.9) FoA TR ?
What is fullerene ? -
YTHTH
3l :
9./M=03
T : (1.10) THIE % RATUGSH Aige HI HiEat fofae |
Write drawbacks of Rutherford’s atomic model. :
YIHTH
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@UE - ‘37’ /SECTION - ‘A’
U :1. 36 9 A 15 Afaegsei 3-uE # | I W 1 I Alumad 15 § 20 wegi 4 o @ | welt v A § | v e
3% 03 () AR F 8 | 15x3=45
Que.:1. This question contains 15 very short answer type sub-questions. Answer each question in maximum 15 to
20 words. All questions are compulsory. Each question carries 03 (three) marks.

I : (1.11) ‘e g2 S aar 2 2 q./M=03

What are ‘Micelles’ ? How are they formed ?

I YHTH

9./M=03

9 : (1.12) 59 YaE F1 8 2
What is gene flow ?

I : YTHTS

9./M=03

T : (1.13) FegH Fe 61 Tag W At B 2

Why does water hyacinth float on the surface of water ?

N YTHTH

9./M=03

TH : (1.14) aifefadaa @ 39 = 994 8 ?

What do you mean by eco-system ?

UTHTS
I ;
9./M=03
U9 : (1.15) nieafa vefam w2 2
What is ecological footprint
UHTSH

I
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@UE - ‘37’ /SECTION - ‘A’

we:2. Fafafas 3 8 e 10 oA & 3w siftesan 100 w=Ei (weds) @ forflan | v&i% w99 06 (@) il =1 2 | 10%6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.
. w 5 .IM=06
T :(2.1) HY R iR § Ir-ashr % Iw # wmmE | L

Explain the uses of nano-technology in agriculture and medicines.

I :
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@ug- ‘3’ /SECTION - ‘A’

aw:9.  Frffad § @ feei 10 vl % I stfiman 100 veal (Se) A faflan | e e 06 (8:) Fh H R

10x6=60

Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)

marks.

T : (2.2) U g et T | FrAfafaa wt ured F h wifrear @ el 2
(i) AT &1 .
(i) 4 9 3fers 37 arelt T
(i) 5 HF M T T
A dice is thrown. What is the probability of getting the following ?
(i) A prime number
(ii) A number greater than 4
(iii) A number smaller than 5

9./M=06
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@UE. ‘37 /SECTION - ‘A’

uw:2.  frefafaa 3 @ e 10 v % 3@ sifvean 100 w8 (wees) @ forflg | oo 9 06 (3:) 3l ®1 2 | 10x6=60
Que.: 2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.
JIM=06
T : (2.3) TRyl & G w5 av Hifsw ) ¥

Describe the universal law of gravitation.

I 55 L
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@UE - ‘37’ /SECTION - ‘A’

w2, fefefaa @ @ e 10 v % I SAfuswan 100 w51 (vd=) 1 fafiae | v 9w 06 (3:) /i w2 | 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.
< . ‘ 9./M=06
UH : (2.4) SHfcus Sl Gral 6t ravEsar 7491 7 2

Why are alternative sources of energy required ?

-11-
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QU - *3’ /SECTION - ‘A’

we:2. Frafafea 3 @ e 10 woai % s sifieran 100 w=Ei (weiep) W foaflan | v we 06 (B:) S W R 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.
s . P .IM=06
U : (2.5) ifgs qugr Aferl v aftrea feogeft fafigu | L

Write a short note on Intellectual Property Rights.

I :
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@us - ‘37 /SECTION - ‘A’

uw:2. fefafes § 3 R 10 v % 3w sifusman 100 = (V) § fafae | v@E w9 06 (3:) S w1 R 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.
: . : 9./M=06
T : (2.6) STEGAR H AT IR TR qehATeh! hl Yfih FHHAEY |
Explain the role of Information and Communication Technology in telecommunication.
qTHS

I ;

13-
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(SE) oL,
WUE - ‘31’ /SECTION - ‘A’
2. fofefea @ @ el 10 o F 3w siftmawm 100 w=gi (wed) o foflan | oo w93 06 () ST F R | 10x6=60
Que.: 2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.
q./M=06

T 1 (2.7) THENE I F91 ] 2 WIS |

What is chemical formula ? Explain.

I ;

-14-
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@UE - ‘37’ /SECTION - ‘A’
uv:2. F=fafiea 4 @ el 10 vl % 3 sAfaean 100 w=81 (weds) A fofigu | v 999 06 (B:) 37 F1 2 |

O |0
g
£,

ErES

10x6=60

Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.
" .IM=06
T : (2.8) SATFETROLTEE AT TWET | %
Explain oxidation-reduction reaction.
I ; .

-15-
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@UE - ‘3’ /SECTION - ‘A’

v :2. fafafga @ 3 i 10 vobi & 3w sftesan 100 o=t (=) @ forfigu | o wea 06 (3:) A 1 2 | 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks
9./M=06
T :(2.9) Ffed A, T Bl FH Tga a1 @ 2

How does sewage pollute water ?

I :

-16-
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(SE) e
@UE - ‘3 /SECTION - ‘A’
w2 frefafiea § 3 R 10 v % 3 sifuman 100 weEi (ves) # foflae | g2 999 06 (8:) 3 12 | 10%x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.
9./M=06

9T : (2.10) IASH Ta T 2 ? FARNGARIEEA 68 THR I 90G ) I9Tiad Hd 8 2

What is ozone layer ? How do chlorofluorocarbons affect the ozone layer ?

IR 55 L
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@UE - ‘37" /SECTION - ‘A’
w2, Frafafea 3 @ R 10 i F 3w sifimam 100 =2l (veie) # foiflan | weie v 06 (9:) Fiwi w1 R 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.
T : (2.11) IV T R 2 WHEAIT | R e
What is photosynthesis ? Explain.
WTHT®

555 L

-18-
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@UE - ‘3" /SECTION - ‘A’

uv:2. frefafies § 3 8 10 vEi % 39 sifusan 100 v=Ei (ved) | foflge | 958 w91 06 (3:) SIH F R | 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.
. IM=06
T : (2.12) W B39 TE =1 B & 2 GHAST | b
What are green house gases ? Explain.
THTE

_19_
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@Ug - ‘37" /SECTION - ‘A’

UvH:3. 39 U A 03 9 B, TdH W 1 I Afhan 300 Weel # 2 2 | weft yva A & | g uw # it e
ot 2 | srdfi form sriaftes fasmew o1 3w 2 R € 3o we gE I F wow afeEa: ) 9@E 9 15 (I58) 6 &
g1 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

U :(3.1) =g & 7 & Fremi @t faflaw aon 372 feramgdes wmemsw |

Write Newton’s laws of motion and explain in detail.

9./M=15

HIET/OR

TR 3R GO e & GEYEl 8 379 = gHEd 8 2 39 3T fafaun |
What do you mean by conventional and non-conventional resources of energy ? Write
the differences between them.

-20-
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@UE. ‘37’ /SECTION - ‘A’
29 Y9 § 03 I9-T9 &, T WA &1 I AfUehan 300 e2l § 241 2 | weft wv Aframd § | oo uvA | arate faweu
ot 2 | syl orm srafts fawey &1 3 2 @ # 30 We 3gE I & gay Alada: H | TS 9 15 (F5E) IFH H
21 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

97 : (3.1) continued (STR})

-21-
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. e

@UE - ‘3’ /SECTION - ‘A’
W:3. 39 WA H 03 U &, T W 1 I fiehad 300 gl H 21 | weft v srfrard # | udis wve # riafs fawen

ot 8 | =i o sriafa fasen #1 3 2 @ ¥ Suw woe 3g@ I % ang fada: w | Y@ v 15 (958) 36
2 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

Y9 : (3.1) continued (FRT)

37
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WUE - ‘37’ /SECTION - ‘A’
UT:3. 3H U § 03 I9-9 B, UdH Y H1 I fiehan 300 vl H <1 B | | wvH HAiAad # | v v § et e
i 2 | Irenefi 5@ stiaftes fased %1 3 2 @ # 3u W 3g@ I & guy Afada: # | 9 9 15 (T5E) 3 #
21 3x15=45
Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All

questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

T : (3.2) Frefefen w wfie fofat fifaw - f et
(31) s wg frgo
(¥) wmEw qre o
Write short notes on the following :
(a) Compound and mixture
(b) Washing soda
HYAT/OR

g1y 3R aTgd 1 # 2 e sitfae i Tamfies i 5 fafe |

What are metals and non-metals ? Write down their physical and chemical properties.

-23-
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@UE . ‘37’ /SECTION - ‘A’
U :3. 3H U U 03 I9-UH B, TAF U9 I IR AfHan 300 veal § 291 ® | At wea srfamd ¥ | wls wea § ariafes fawew
ft 2 | sreedi o oriafies faspen 1 3w 2 @ ¥ 30 w98 3@ I & waE AfEra: B | 59 9 15 (958) HHl #
2 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

Y9 : (3.2) continued (TR7)

-24-
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'@Ug-‘a‘l’/SECTION-‘A’
U¥:3. A U A 03 I9-UH &, U WY 1 3w AfteRan 300 w=E) A 21 2 | wft v a2 | v uwa § stiaie fasen
ot 2 | 3adi f5@ snafe fames &1 30 2 @ % 3o We 3PE I & uny Alada: H | TS 9 15 (I58) Ihi H
21 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

99 : (3.2) continued (JR})

-25-
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@UE .- ‘37’ /SECTION - ‘A’

U :3.  3H U H 03 I9-UH B, TAF W H I Aftrehad 300 el ° 1 2 | |G wue swtfad £ |y wve § saies faseu
i 2 | aradi o srafts fases &1 3 2 ® 35 T8 3g@ I F 9ug AfEra: # | TS TH1 15 (TFR) IFH &
2l 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

T ¢ (3.3) TGO GUOT AT R ? $Heb WEwqUl HRebI U9 YHE] Hl HELATEY |

What is environmental degradation ? Explain its important causes and effects. -

9./M=15

FHUET/OR

318 INTE YEYA F91 ] ? 39! HEwyqul fafedi o1 9l hifer |

What is solid waste management ? Describe its important methods.

-26-
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A

m-‘ax’/ SECTION - ‘A’
usT:3.  2H U H 03 IU-UHH B, YIS 9 1 I AHaA 300 IeSl &1 2 | @t yvA srfad # | ues wea 0 oraies A

ft 2 | areaefl form ariafts fes &1 3 2 @ 8 309 TP 33E@ I & Gy AT i | TS 9 15 (T5E) bl H
21 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

9 : (3.3) continued (JTRT)

-27-
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O] by

@UE. ‘3’ /SECTION - ‘A’
U9 :8. 36 U A 03 3999 §, T 9 F1 I Afipan 300 we2i A 20 R | et wen s # | v wen 6 st fwes
ot 2 | sl S it fawes &1 3 2 @ & Sus we g W & ang Alara: # | 536 11 15 (F58) 3wl H
21 3x15=45
Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All

questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

Y99 : (3.3) continued (TR7)

-28-
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T & &g T
SPACE FOR ROUGH WORK
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TF & gq TUH ‘
SPACE FOR ROUGH WORK

-30-




